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X2k QK| H 4H| 100,000%! x 128 1,200
<$MQX|H|> 45,460
s W5 Lgy| 375,0008!x123] 4,500
Y| fX|EaH| 4,000,000¥x13] 4,000
HAL LR HEE 24 12,000,0002!x13] 12,000
AL 2L 5,000,000 x13] 5,000
HELF &4Hal 2,500,000 x3%] 2,500
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HE F H e 1,455,000 123 17,460|
<QUXtE> 8,820
EQIET X Ukt 5,000 x5Ux12¥x6Hx90% = 1,620
HI|Xt YAt 600,000 x 122 x 1CH 7,200
<&383 A HAM> 76,430
XS XtMl2,700ccO| 5t 2,700ccx2202 x 1.3 770
M3tz 1,200,000 x128 14,400
™M Motz 30,0008 x 128 360
E=E 1,0002!x 1005 x 12 ¢ 1,200
QIE{l 0|88 700,0008! x 12 8,400
Z 01| (R AHE) 900,0008! x 13| 900
FUM(HAZSE) 300,0008! x 13| 300
M7= 2,200,0008! x 12 26,400
AstaE g2 200,0009 x 128 2,400
;IE%E' gaAd 50,0009 x 23] 600
=

YA AX|M 10,0002 x 5% x 301} 1,500
XELSM SHAZ 1,600,000 x 12 19,200
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Of | 64,280 78,280 -14,000 64,280
<2Lj0fH|> 15,280

- By ofH| 720

HApE S AHE 20,0002 x 128 x33] 720

- Ho|ofH| 14,560

SLH(AE 182Y) 340,0008 x 243 8,160
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<=9|0jH|> 49,000

A =A@ §o|3| sl = A 25,000
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dEE 3,000,000 x2%| x 1H 6,000

3= 1R 17,000

#E 4,000,000 x 23] 8,000

AT 3,000,000%! x23| x 1 6,000

CLESES 3,000,000 x 13| x 1 3,000
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o+F 4,000,000 x138] = 4,000
x| 3,000,000 x13|x1H = 3,000
AR F| 55,000 51,000 4,000 55,000
ZH2Y A R 30,000,000 x 14 = 30,000
AMHAR2 T 25,000,000 x14] = 25,000
S| 24| 337,812 299,110 38,702 337,812
<AIZIEY REE> 281,812
FUAF 2,769,903,530¥!x4.50% = 123,958
HZEER 2,556,381,0008!x3.30% = 90,903
BaYEEz 2,556,381,0009/x3.30% = 2,218
k- Y-k 1 2,556,381,0008!x1.35% = 37,187
MxEEE 2,556,381,0009/x1.00% = 27,546
<7|EF2 | S AH|> 56,000
HMEHEX|NE 298| 50,000
A1E 1,250,000 x32%H = 40,000
CLESES 1,250,000/ x8H = 10,000
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300,0009 x 25 x 23] 15,000|
300,0008! x6H x 23] 3,600]
<H|FAT AL 6,000|
3,000,0008! x 23| 6,000
3,000]
A A KXy | 1,000,000 x 23| 2,000
500,000 x 23| 1,000
6,000|
500,0002 x 122] 6,000
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FELEETRSE
[ N N N il ehoen00E e

ojlH|H| 55,682 49,800 5,882 55,682

ojld]H| 55,682 49,800 5,882 . 6,186,896,0008x0.9% = 55,682
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O 2019 XFALR LA Xt=Z 04t H|E MFLHY

(SHl: H )
o=
P I e = o Aol HMEE of kot Hu3Z MEUY

@ Xp2Of|AH| & 197,300 292,148 -94,848
SR 84,300 261,848 -177,548

=2 30,000 101,000 -71,000 30,000

Al &b 30,000 101,000 -71,000 30,000

- <A|2 3 ROjH[> 30,000

. BAHUE HIQE EHY 10,000,000/ x13] = 10,000

. "M FRE s 15,000,000 x 13| = 15,000

i‘j;iiﬂ??—i 23 5,000,000 x12] = 5,000

7|7 A HIE 54,300 160,848 -106,548 54,300

Kok SH| 54,300 160,848 -106,548 54,300

:Eé.'i:‘r :_:i::cil =) 15,000,000 x14] = 15,000

%iﬁziﬁgg%jlg 30,000,000 x14 = 30,000

. 93XEER 150,000 x305 = 4,500

. EAMFUH| 400,000 x 128 = 4,800
FEX 113,000 30,300 82,700

TR 113,000 30,300 82,700 113,000

7|ELR @ XA 113,000 30,300 82,700 113,000
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- <7|EFREXIAS 113,000

R EER
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2O 56,550,000 x24 = 113,000
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O 20199k HFAHALRLR EEHAA ArHof|4t H[E MELHY

1,642,482,000¥! x103%

_ ZElo] LAl I 756
<FEATA (20181 = Z7|2FH 3% ZHoj| A Rl
ol L AH| 1,691,756,460€ x70% = 1,184,230]
UBks|A MEF 1,691,756,4608x30% = 507,527

4,071,300,000& x103%

. <3oFo{ L ALYY
<gaATAE> (20189 Z 7|2 3% S H0f| 4 4,173,484
L AH| 4,173,484,0008x85% = 3,564,423
US| A HES 4,173,484,00081x15% = 609,061

NHAZ| A 449,153 350,000 99,153| - <IHFAIS|HFME 2HAY> 449,153
. ApedH| 449,153,000 x46% = 182,356

. 29H| 449,153,0008 x5% = 23,356

. ol 449,153,00081x39% = 176,068

CHad =48 9 Uukaa|H| 449,153,00081x15% = 67,373

HF=A2 S X A7 HE 780,000 720,000 60,000| - <HMFALZ|SX|HTME SHAIY> 750,000
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AFH| 750,000,000¥ x25% = 187,500
ol AHH| 750,000,000¥ x45% = 337,500
S| 750,000,000¥x15% = 112,500
CH3i442 9 Yubaald| 750,000,000¥x15% = 112,500
- <HFAZESX| AT ME FHAAY > 30,000
AFSiH| 30,000,000 x70% = 21,000
YA HES 30,000,000 x30% = 9,000
Al 470,000 371,112 08,888| - <MFEZBEXZHE SANL> 470,000
2| e '
AFSiH| 470,000,000 x29% = 135,000
SH| 470,000,000 x8% = 35,000
QI Z4H| 470,000,000 x64% = 300,000
sz 3 U] 470,000,000¥x15.% = 0
aE xlﬁ;}fﬂulﬁ 300,000 257,143 42,857| - <HFEX|GAIS|MH|AX| QT 2HA > 300,000
=
AFH| 300,000,000 x19% = 57,863
SH| 300,000,000 x3% = 10,000
QI ZH| 300,000,000 x63% = 187,137
CHds2 3 Lirata|y| 300,000,000 x15% = 45,000
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Aoazdad 1,112,000 1,060,000 52,000| - <X|YdHUMX|AME SHALR> 300,000|
X| 2 M E o
2| 300,000,000¥x17% = 51,000
ol AHH| 300,000,000¥ x83% = 249,000
2 3 LoE2[Y| 300,000,000¥x15% = 0
- <XGFELUTX Y ME] FHAAA> 812,000
AFSiH| 738,184,000 x100% = 738,184
UBks|A| MEF 738,184,000 x10% = 73,816
M| F= oA - MIE 2,351,130 3,054,503 -703,373| - <HIFEHATME 2FAY> 1,851,130
AFAH| 1,851,130,038%x54% = 999,610
23H| 1,851,130,038&x11% = 203,624
ol Z4H| 1,851,130,038¥ x35% = 647,896
sz W Lotgt2(y| 1,851,130,038¥x15% = 0
- <HFEARLME] HAAA> 500,000
AFH| 800,000,000 x85% = 425,000
US| A MES 800,000,000 x15% = 75,000
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